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MECHANICAL ESTIMATING & COSTING
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e () RETIRIE & IHIT
Note : Attempt any FOUR questions.
(i) ¥EF 397 F gyt 9Tl B HHAR 0 G 5 BT |
Solve all parts of a question consecutively together.
(iii) A% T97 F1 79 78 8 IRA Hifrd |
Start each question on fresh page.
(iv) 31 93T § 7 g7 F1 R 7 33 srgare @ = 8 1

Only English version is valid in case of difference in both the languages.

1. (i) TR % 32 U9 S ol auEE |

- Explain aims and function of Estimating. 8Y)
(i) e ITNT 100 U e st B | wewer veref v T 180, Y&t i ST T 240, @
St Huft = 2 280 B | e forsha Sait @, Hadt 1T & 30% &Y, @ Tk 94
fosra o o @ e R fsha o9 1 15% A e &l ?
An industry is manufacturing 100 pen per day. The direct material cost is ¥ 180,
direct labour cost is ¥ 240, and factory overheads are ¥ 280. If the selling overheads

are 30% of the factory cost, what must be the selling price of each pen to realise a
profit of 15% of the selling price. )

2. () s R smmaER-aN e E 2 aue |

What are the various elements of cost ? Explain 7%)

(1 of 4) P.T.O.
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(ii) ﬁa(l)ﬁwﬁhwm%mwmﬁmaﬁmﬂmmm
8mﬁ/ﬁﬁ3®‘w¥fm€50f%m.%l ’

Calculate the mass and cost of the lathe centre shown in Fig. (1). The density of

material is 8 gm/cm3 and cost of material is T 50/kg. (10)
T A |
[l (=] o [
Iv- YD WP S B N B e e aiutaits F -4.. O
= 90° -3 P-S =
—— B!
——’l 10 L— 30 =10 l;‘r 80

it wrg .ot # & / All dimensions are in mm.
fi= - 1/ Fig. - 1

3. (i) m@mw%?m@m%mam@m.
What is Job Evaluation ? Explain the purpose and principles of Job Evaluation. (8'%2)
(ii) ﬁa—zﬁasrfqaw@éqm,mﬁrﬁ.maﬁmﬁmﬁﬂﬁm%|aﬁz
ﬁaﬁaﬁﬂmz.sﬁ.ﬁ.,waﬂﬁqmﬁqw201&./&1232119@%&2%%?
WOBﬁTﬁHﬁWImWHﬁmEﬁﬁQl

Calculate the time required to turn a stepped shaft as shown in fig. 2 from stock of
40 mm diameter. The depth of cut should not exceed 2.5 mm. Assume the cutting

speed to be 20 m per min. and feed to be 0.3 mm/rev for each cut. )
T 7 T
40 ¢35 ¢ 30

1 1 +
e 50 —ok— 40 —s— 50 —|

uft wrg Ry, 4 |/ All dimensions are in mm.
= -2/ Fig. -2

4. () ﬁwﬁﬁm@ﬁa@ﬁﬁﬂ@aﬁm|

Explain the various allowances used in pattern making. (7'4)
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(ii) @mﬁme 1 m%if?ﬂ, 30mm'xz’>0mm x 5 mm 37T S0 8 JTIATHR HH

5. ()

(ii)

T % Rre werd Jeea o 3 KU | Fie srfwei &
TR ITHIT = 0.4 m>/hr N 6 T 10/m> W IveTey & |
e ST = 0.4 m*/hr 1 16 T 50/m’ W ITeTea 2 |
AfeeT a1 = 4 m/hr

T ss 2.5 mmmiﬁm=3.4m/maﬁﬁmi

wur v gerd v = ¥ 13/kg

TRO1 B 1T = 7 gm/em’, 30T A TE FEA R | |

Find the welding material cost for making a rectangular frame for a gate of
2 m x 1 m from angle iron of size 30 mm x 30 mm x 5 mm. Assume the following
data :

Oxygen consumption = 0.4 m>/hr available @ ¥ 10/m>
Acetylene consumption = 0.4 m>/hr available @ 50/m*
Welding speed = 4 m/hr ‘

Length of filler rod of dia 2.5 mm = 3.4 m/m of welding
Filler rod material cost =% 13/kg

Filler rod density =7 gm/cm3 , welding is to be done on both sides. 10)

fafir= wopr & Hie urq Siet 1 fa 6t wgma @ awsnsd |

Explain various sheet metal joints with diagram. (7%)
-3 1 e SgaR 50 7g 39md Sicel B SIS S % I sravas 91g 1 A
Wi % HHR ) T FIRTT Jafer TR =i 1 = 25 fnft. 2 | Sfoa wia aifai
R | E (p) = 8 /A |

Estimate the size of stock and weight of material required to forge 50 M.S. bolts
as shown in Fig. — 3 The bar stock diameter is 25 mm. Assume appropriate forging
losses. Density p = 8 gm/cc. (10)

T n
50 ) 254
i Ir

=20k 150 A
aft wrg fraft, # & / All dimensions are in mm.
f=-3/Fig.-3
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(i)

(i)

» (4of4) , i28
U TTRIEITT o 1 HHT & 2 IS TTEATYA S MESTE 1 aWSsd |

What are the reasons for equipment replacement ? Explain the guideline of
equipment replacement. (8'%)

6 Rrefl. TR DY 0.6 x 0.6 x 1 m HeTE F SHT H1 TH L GeA T S0 I
FRRS IR EIRE | g /a3 8 lﬁnaﬁsﬁaﬁéﬁgmaﬁmmml

wie §1 @ = T 4 v .
fte Weet Tha = |l T 5%

A container open on one side of size 0.6 x 0.6 x 1 m height is to be made from

plates of 6 mm thickness. Take density of metal as 8 gm/cm3. Estimate the cost of
containers from the following data :

Cost of plate = T 4 per kg.

Sheet metal scrap = 5% of material )



